SEGNA SUBITO QUAL E’ IL RISULTATO ESATTO


24.000 : 32 =          750 |__|           7,5 |__|


75 : 7 =          107 |__|           10,7 |__|


4712  x  38 =         2.345 |__|          179.056 |__|


7890 - 879 =          8.711 |__|           7.011 |__|


457 + 2340 + 859 =          3.656 |__|           2.656 |__|


5430 : 5 =          106 |__|           1.086 |__|


8720 : 9 =          9.688 |__|           968,8 |__|


43,2 x 3 =          129,6 |__|           12,6 |__|


13000 - 58 =          12.942 |__|           13.942 |__|


23450 + 7,2 + 14,37 = 23.471,57 |__|  23.471,576|__|


150 x 99 =          1.480 |__|           14.850 |__|


127,5 - 10,8 =          116,9 |__|          116,7 |__|�
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